Q1 School

Answered: 30 Skipped: 0

ANSWER CHOICES	RESPONSES	
Wisconsin Rapids, Assumption Middle School	100.00%	30
TOTAL		30

Q2 Are you a

Answered: 30 Skipped: 0

ANSWER CHOICES	RESPONSES
Catholic	70.00% 21
Non-Catholic	30.00% 9
TOTAL	30

Q3 Catholic Attitudes

Answered: 30 Skipped: 0

	STRONGLY DISAGREE	DISAGREE	UNSURE	AGREE	STRONGLY AGREE	TOTAL
1. I believe that Jesus is truly present in the Holy Eucharist.	3.33% 1	6.67% 2	23.33% 7	33.33% 10	33.33% 10	30
2. It is important for me to be with God in Heaven.	3.33% 1	0.00% 0	10.00% 3	26.67% 8	60.00% 18	30
3. I am proud to be Catholic.	0.00% 0	10.00% 3	36.67% 11	33.33% 10	20.00% 6	30
4. It is important for me to go to Mass every Sunday (or Saturday evening).	3.33% 1	10.00% 3	33.33% 10	40.00% 12	13.33% 4	30
5. I believe that God has a calling or vocation for every person.	3.33% 1	3.33% 1	23.33% 7	36.67% 11	33.33% 10	30
6. It is ok to lie in order to avoid getting in trouble.	20.00% 6	46.67% 14	26.67% 8	6.67% 2	0.00% 0	30
7. Being a Christian is more important than being rich or famous.	3.33% 1	3.33% 1	10.00% 3	66.67% 20	16.67% 5	30
8. Faith in God helps me get through the tough times in life.	3.33% 1	13.33% 4	13.33% 4	33.33% 10	36.67% 11	30
9. God creates a person either male or female.	3.33% 1	3.33% 1	6.67% 2	16.67% 5	70.00% 21	30
10. Belonging to the Catholic Church is an important part of my relationship with Jesus.	0.00% 0	10.00% 3	20.00% 6	40.00% 12	30.00% 9	30
11. The Bible provides reliable instruction about what is right and wrong.	3.33% 1	0.00% 0	10.00% 3	63.33% 19	23.33% 7	30
12. The Bible gives an accurate picture of who Jesus is and what He taught.	3.33% 1	3.33% 1	6.67% 2	60.00% 18	26.67% 8	30
13. Priests and teachers help me understand what the Bible teaches.	3.33% 1	10.00% 3	20.00% 6	46.67% 14	20.00% 6	30
14. My teachers are helping me live my faith each day.	6.67% 2	6.67% 2	23.33% 7	36.67% 11	26.67% 8	30
15. I feel that I am growing closer to Christ each year.	6.67% 2	6.67% 2	36.67% 11	40.00% 12	10.00% 3	30
16. To get ahead in life, a person cannot always worry about right and wrong.	13.33% 4	20.00% 6	36.67% 11	30.00% 9	0.00% 0	30
17. I enjoy spending time with my family.	3.33% 1	0.00% 0	13.33% 4	30.00% 9	53.33% 16	30
18. It is important for me to make an effort to overcome my own selfishness.	3.33% 1	0.00% 0	6.67% 2	56.67% 17	33.33% 10	30
19. It doesn't bother me when I see my friends doing something wrong.	20.00% 6	33.33% 10	33.33% 10	13.33% 4	0.00% 0	30
20. It is important for me to follow my conscience.	3.33% 1	3.33% 1	30.00% 9	50.00% 15	13.33% 4	30
21. I am willing to speak up to defend my faith.	10.00% 3	6.67% 2	33.33% 10	30.00% 9	20.00% 6	30
22. I have a duty as a Christian to help those in need.	3.33% 1	3.33% 1	16.67% 5	56.67% 17	20.00% 6	30
23. I believe that I must avoid the temptations of sin to live a good life.	3.33% 1	0.00% 0	23.33% 7	53.33% 16	20.00% 6	30

24. Living a faithful Catholic life is the path to becoming happy and fulfilled.	3.33% 1	6.67% 2	20.00% 6	46.67% 14	23.33% 7	30
26. I believe that God knows and loves me personally.	3.33% 1	6.67% 2	16.67% 5	43.33% 13	30.00% 9	30
27. Scientists are experts on what is morally right or wrong.	30.00% 9	26.67% 8	26.67% 8	16.67% 5	0.00%	30
27. There is a Heaven and a Hell.	3.33% 1	0.00% 0	16.67% 5	36.67% 11	43.33% 13	30
28. Sin offends God and harms me.	3.33% 1	0.00% 0	20.00% 6	40.00% 12	36.67% 11	30
29. Sex is a sacred gift reserved for married couples.	6.67% 2	3.33% 1	26.67% 8	40.00% 12	23.33% 7	30
30. Abortion is wrong.	13.33% 4	3.33% 1	13.33% 4	13.33% 4	56.67% 17	30
31. It is not a serious sin to freely choose to miss Mass on Sunday (or Saturday evening).	16.67% 5	33.33% 10	26.67% 8	16.67% 5	6.67% 2	30
32. Receiving the Eucharist after intentionally missing Mass on Sunday is a serious sin.	0.00%	10.00% 3	30.00% 9	43.33% 13	16.67% 5	30
33. In Reconciliation, God forgives my sins when I confess them sincerely.	3.33% 1	0.00% 0	26.67% 8	36.67% 11	33.33% 10	30
34. Being a girl or a boy is a big part of who I am and what I am.	3.33% 1	0.00% 0	16.67% 5	36.67% 11	43.33% 13	30

Q4 Catholic Actions - Practices

Answered: 30 Skipped: 0

	NEVER	SELDOM	SOMETIMES	OFTEN	ALWAYS	TOTAL
35. I attend Mass on Sunday (or Saturday evening).	26.67% 8	23.33% 7	26.67% 8	10.00% 3	13.33% 4	30
36. I receive Holy Communion when I go to Mass.	26.67% 8	3.33% 1	16.67% 5	16.67% 5	36.67% 11	30
37. I prepare myself to receive Communion respectfully.	23.33% 7	0.00% 0	36.67% 11	13.33% 4	26.67% 8	30
38. When I go to Mass, I participate by singing and praying out loud	16.67% 5	3.33% 1	20.00% 6	36.67% 11	23.33% 7	30
39. I attend Mass on Holy Days of Obligation like the Feast of the Assumption.	13.33% 4	6.67% 2	40.00% 12	16.67% 5	23.33% 7	30
40. I pray with my family before meals.	20.00% 6	23.33% 7	23.33% 7	3.33% 1	30.00% 9	30
41. I set aside time for prayer.	23.33% 7	16.67% 5	33.33% 10	10.00% 3	16.67% 5	30
42. I pray the Rosary with my family or on my own.	53.33% 16	16.67% 5	20.00% 6	3.33% 1	6.67% 2	30
43. I follow the guidance I get from parents about right and wrong.	3.33% 1	10.00% 3	16.67% 5	46.67% 14	23.33% 7	30
44. I follow the direction I receive from my teacher about right and wrong.	3.33% 1	6.67% 2	36.67% 11	33.33% 10	20.00% 6	30
45. I enjoy doing things with my parents and other family members.	3.33% 1	3.33% 1	13.33% 4	23.33% 7	56.67% 17	30
46. I watch movies that include nudity.	30.00% 9	23.33% 7	26.67% 8	16.67% 5	3.33% 1	30
47. I have watched movies that my parents consider too violent.	30.00% 9	23.33% 7	10.00% 3	20.00% 6	16.67% 5	30
48. I play video games that include scenes of graphic violence.	33.33% 10	16.67% 5	16.67% 5	13.33% 4	20.00% 6	30
49. I use my phone or device to play games instead of listening to my teacher.	46.67% 14	26.67% 8	13.33% 4	10.00% 3	3.33% 1	30
50. I have disobeyed my parents in order to fit in with friends.	30.00% 9	23.33% 7	16.67% 5	20.00% 6	10.00% 3	30
51. I have cheated in order to avoid getting a bad grade.	23.33% 7	26.67% 8	23.33% 7	16.67% 5	10.00% 3	30
52. I have used technology to insult or bully someone that I don't like.	46.67% 14	20.00% 6	13.33% 4	13.33% 4	6.67% 2	30
53. I have used the name of God irreverently.	13.33% 4	26.67% 8	16.67% 5	23.33% 7	20.00% 6	30
54. I have a habit of viewing pictures or videos of others immodestly dressed.	63.33% 19	13.33% 4	13.33% 4	3.33% 1	6.67% 2	30
55. I go to confession with my family or by myself.	33.33% 10	23.33% 7	13.33% 4	16.67% 5	13.33% 4	30
56. After confession, I ask God to help me break sinful habits.	26.67% 8	3.33% 1	26.67% 8	33.33% 10	10.00% 3	30
57. I help other people who seem to need help.	6.67% 2	10.00% 3	23.33% 7	33.33% 10	26.67% 8	30
58. I show respect for my mother and father by doing what	3.33%	6.67%	16.67%	46.67%	26.67%	

they ask.	1	2	5	14	8	30
59. I observe Lent by making sacrifices or praying more.	6.67%	13.33%	46.67%	30.00%	3.33%	
	2	4	14	9	1	30
60. I visit friends or neighbors who have health problems.	16.67%	20.00%	26.67%	26.67%	10.00%	
	5	6	8	8	3	30
61. I seek to know and do God's will.	6.67%	6.67%	16.67%	43.33%	26.67%	
	2	2	5	13	8	30
62. When others have hurt me, I have been able to forgive	13.33%	6.67%	40.00%	26.67%	13.33%	
them.	4	2	12	8	4	30
63. I avoid breaking rules at home and in school.	3.33%	23.33%	33.33%	16.67%	23.33%	
-	1	7	10	5	7	30
64. I have thought about being a priest or religious brother or	63.33%	10.00%	20.00%	0.00%	6.67%	
sister.	19	3	6	0	2	30